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Introduction of Intermodal transportation

SITC Intermodal
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International cargo shipping by railway containers for overseas, no need for cargo shifting and
reloading. Cost saving, cargo damage avoiding, one container for whole transportation
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More than 2000 railway stations;
Large scale of railway network,
Adequate railway container volume
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Intermodal transportation from/to Inland of China
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Japan/Korea/South East Asia—Ningbo—Inland of
China, vice versa
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Ningbo—Hefei: One day on railway, daily line

Ningbo—Nanchang: One day on railway, 3 lines/week
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Japan/Korea/South East Asia—Qingdao—Inland of

China, vice versa
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South East Asia—Qinzhou—Chongging/Chengdu, vice

Versa
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Japan/South East Asia—Xiamen—Russia, vice versa
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Japan/Korea/South East Asia—Tianjin—Ulan Bator, Mongolia, vice versa
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SITC COC containers and railway
containers are available

Customers can redeliver the containers at
Ulan Bator
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Japan—Tianjin--Ulan Bator: 25 days




SITC

3. HA/RKMW—T7 &5/ = —F XA
Japan/South East Asia—Qingdao/Lianyungang—Mid Asia, vice versa
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Customers use rail containers to Mid Asia,
and redeliver it directly at below destination:

Almaty, Tashkent, Astana, Gypjak
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